John Escallier placed strips of Nomex insulation material between two sections of bare cable.  The top of the Nomex was flush with the cable.  He then measured the flashover voltage for three thicknesses of Nomex.  His results are:

Three thicknesses of nomex were used in the hipot test; 5, 10, and 15 mil. 

This test was a measure of the flashover voltage in room air. The nomex 

insulation was the same width as the cable.

The results of the hipot testing in air:

5 mil nomex 1300 volts 

10 mil nomex 1500 volts 

15 mil nomex 2400 volts

George Ganetis said that the result implies that gaps between the cable as small as 5 mils will suffice for a 3m magnet operated at high pressure (e.g., forced flow at 15 atmospheres, as in RHIC).
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